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SECTION-A: ENGLISH PROFICIENCY
Questions (01-04):  Fill in the blank with right option

01, Children must bo ~-- with love and care.
{A) brought up (B) brought about () brought for (1) brought as
02 The family looked for a double bedroom —— for three days.
(A} soom (B} suit (C) suite (D) sweel
03 1t is natural in every man 0 wish——— distinction.
(A) on (H) for () of (D) o
04, | am exactly like my mother, | think | have ———-her.
{A) taken to (H) taken off (C) tuken over (D} wmken afier

Questions (05-08); Select the word or phrase that is most closely opposite in meaning to the original word
05, ACUTE

(A) Sharp iB) Critical (Cy Dull (¥} Sensitive
06, ORNERY

(A) Straight-Forward  (B) Easy (C) Complex (D) Plain
07. VOLUNTARY '

(A) Ordered (B) Alicmative (C) Essentinl (D) Compulsary
08, AFFLUENCE

(A) Povernty (B) Continuance (C) Diffidence (D) Insurance

Questions (09-12): Find the correctly spelt word
09, {A)} Eflorescence iB) Efllorescence (C) Efftorescence (D) Efflorascence

10, (A) Adventitous (B Adventitious (C) Adventitus (D) Adventituous
11 (A) Aberant (B) Abbarant (C) Aberant (D) Abberant
12, (A) Cappricious {B) Caprisious (C) Cansuous (D) Capricious

Questions (13-16): Read the following passage and answer the questions given below:
Raisins are dried grapes that have been eaten for thousands of years. Nearly 3,500 years ago, the first misins
were discovered as grapes that were drying in the sun on & vine. In medieval Europe. raising were used as
gwecteners, medicine, and even as a form of money!

In Amenica, rising were first grown after an 1873 heat wave in California destroyed its valuable grape crop,
_mﬁ,ﬁiﬂ,uﬂnﬂy but sty grapes on the vines. Soon, farmers began developing seedless grapes in
California that were thin-skinned and sweet. These grapes would be purposely dried in the sun and became
nwﬂmumwmmﬁy Later, a golden variety of raisin was made by treating grapes
with a chemical called sulfur dioxide and using special methods t dry them.
mﬂﬁhmhmﬂh%u&hhﬁm producing nearly 95 percent of the
‘worlds rasins. Iis groen valleys, sunny climate, and hot temperatures provide the perfect conditions for
mﬂ-nhﬁdhﬂm

13, Which of the following were rassins not used as?
 (A) medicine (B) weapons (€) sweetener (D) money
14, Golden raisins were discovered.
(A) before dark raisis  (B) passage dossn'tsay (C) afier dark raisins (D) None of these:
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Cﬂﬂﬂﬁ: GENERAL MATHEMATICS a,.,
ﬁﬁ E#};r ::ﬂ rﬂ::m following questions carefully and choose the right answer.
A owing numbers oy e sat S =
ﬂ'f’“;ﬁ?#"ﬂffﬂﬂ?* ng numbers can be removed from the set S = 10, 2, 4,5, 9} without changing
() 2 I (!
14, Find the least number of five digits which I’ .} I (D) 5
e digits which when divided by 40, 60, and 75, leave SRS AL S
}-15' f:l}m:;:':tﬂﬁ his good 1-Bjd'm!w ) (D) 1019}
3 5 5 gat a discount 20%. He stll : :
marked price only, his profit will be: ¢ il makes A PORRSR e sells the goods at the
: the goods i
o ,‘I,";Lf:;;; o (B) 25:56% (€) 50.25% (O Sz
i 33% of 19 articles is same as the selling price of 29 articles. What is loss S
: (B) 35.00% (C) 34.48% (D) 50 6086
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::::‘:i::'kmﬂl; hour 5 -lh}'. A J,_l!nrm: can complete a prece of work i o davs and B alon iy 8 days. 1 | ‘:
(A) $ da M"“ they complete it together, 8 hour a day?! "
o 4 (B) 3 days (C) 4 duys (1% 36 ddays S,
There i provision of food i fon for 1200 soldiers for 60 days, Adter 15 davs, 2000 soldiers beave e '
fort. Reniaining food will ast for how many daye? \.
(A) 56 days (B) 50days (C) 48 days (084 days A
1.2 men or 3 women or 4 boys can do a piece of work in 52 days, then the suoe ploce of work will be ey
done by | man, | woman and | boy in "
(Al 48 days (B) 36 days (C) 43 days (1) 50 davy ’
In a 200, there are Rabbits and Pigeons. [f heads are counted, there are 200 and if logs are coumied,
there are S80. How many pigeons are there? _
(A) 90 (B) 100 (Ch 110 (D) 120
P and O invested in a business. The profit carned was divided in the ratio 2 ¢ X I0 P anvestid
TK.AD000, the amount invested by Qis
{A) Tk 40000 (B} Tk 50000 (C) TR 700 (1) Tk, 6N
A, B, C subscribe Tk, 50,000 for a business. A subscribes Tk 4000 more than 1 aoel B TR, OO0 maore
than C.'Out of a total profit of Tk 35,000, A receives
(A) Tk.14,700 (B) Th1.900 {C) Th. 13,600 (0 T S400
The angle of elevation of a ladder leaning against a wall is 60° and the foot of the ladder is 4.6 m away
from the wall. The leagth of the ladder is
(A) 2.3m fH) 92 m () 46m (0 7.8 m
The sum of the present ages of a father and his son 15 60 years. Six years ngo, futher's age was five v
times the age of the son. After & years, son's age will be: df“': ’
(A} 12 vears (B) 14 vears (C) 18 years (D) 20 years
If1he sum of two numbers is 22 and the sum of their squares is 404, then the product of two numbers 4%
is PreX " ',-"-::e
(A) 40 (B) 44 (©) $0 W ) s S fee

b

ﬁmnki;ﬁliedinjhmrshyﬂuupipﬁh.Bmd(‘.'l‘h::pipc(.l‘hm'innsfmmﬁmdﬂmtwnmm- ;‘;..
fust as A. How much time will pipe A alorie take 1o fill the tank? Wiy o
(A) 20 hours (B) 25 hours A€) 3shours + 7™ (D) None of these o’
wm:hmmurﬁmmemrwmrmenirmmnrmmmnmn_saumu =
years and the rate of interest for the last § vears is 6% : e
(A) 4% (B) 5% (€) 3% (D) 6% oA

What is the smount of equal installment, if & sum of Tk, 1428 due 2 years henee s 1o be completely e
repaid in 2 equal annual installments starting next year? _fﬁd‘
(A) Tk.700 (B) Tk.800 (C) Tk.650 (D) cannot be determined A

In a class, the number of girls is 20% more than lhﬂot‘lhctiﬂﬁ’fhaﬁmgﬂq of the class s 66, 1r 4 1-';“%
more girls are admitted to the class, the ratio of the mumber of boys 10 that of the girls is .

(A) 1:2 (B) I:4 (€C) 35 (D) 3:4 o -
Ifx:y=5:2, then (8x +9): (Bx + 2y) s > G
(A) 29:22 (B) 22:29 I€) 26:61 (D) 6126

Two number arc in the mutio 3 : 5, If 9 is subtracted from each. the new numbers are in the rilla 12

23. The smaller number is
(A)21 (B) 33 _©) 2 (D) 55 L
A mankey climbs 3 60 m high pole. hﬁlﬂﬂmﬂhr?elim 6 m and slips down 3 m in the next o’ 1

minute. How much time is required by it to reach the top A
- 53, Two trains 105 meters and 90 meters long, run at the speeds of 45 kmvh And e

opposi mmmmmmmwmwmmmm

. ) A
72 km'h respectively, in WJ'
Gﬁ.ﬁ"-ﬂ

) Sacconcy {B) Tscconds (C) 5 seconds E‘;ﬂm
x e rate of current is 3 k. The distance taveliea a3
(C) 1.8 km AL
o : (D) 24 km
2 is bl Wbﬂhﬂ_ﬂhﬂmll Whmipﬂm.mh“ﬁr 'L"'\"‘S}
ﬂill-': )" x b
rectangular plot is 20 meters more than it )y o
ST, 5300, what s the g of the pot i ™ O F0Ci0g the plo gy ¥ (b0
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v and answer the questions given bel

s (57-80); Study the following

Question Hit
- W , miny sare ies V=
57.  The rocket launchid from French carried how many S3E (D) /
< (€) o
(A) 4 (B) - ,
s Professor Amartya Sen is associated with : (D) Geology
s . . "5 -
(A) Biochemistry (B) Economics £ [lmr;mb
50, [Each year World Red Cross and Red Crescent Day 15 ::elchmt on (D) May 8
(A) June & (B) June 18 (€) .Mw'.l S ST .t sed s
60, For secing objects at the surface of water from & submarine under water, the inStumen’ ¥
(A) periscope (B} telescope (C) kaleidoscope (D) spectroscope
61, G-15 is an economic grouping of
(A) lst World Nations  (B) 2nd World Nations (C) 3rd World Nations (D) 4th World Natons
62. For galvanizing iron which of the following metal is used?
1:‘1.1 Lead (B) Zino () Aluminium (D) Copper
63. Study of life in outer space is known us
” 1}..-';.1. Erfu_*f:rbmlog}' .liﬂ enterhiology {C) endbiology (D) exobiology
: r ..:: ;:;: _;mm-muill: satellite, Sputnik 1 was launched by the former USSR in
£ 2 (B) 1955 (C) 1970
s ) A3 (D) 1967
65, ‘l:;' ]:,J.':Jiz::nur of the Ur:_.:;m;:illluu aof Petroleum Exporting Countrics are af
: Alg = ) Vienna (C) Lagos (D) Kuwai
66, {T:;: hé:sht rail lirie of the world, Trins-Siberion line, 15 in it
= na (B) LISA (C) Russ £
67, The instrument used to measure electnc cumment 15 = () Incta
{A) electrometer (B) galvanomete - :
6%. Brentindex is nssociated will:f ' : () nestiomernr (D) ammeter
(A) crude oil pri :
e p; } ::IJ.I] prices (B) shipping rate index (C) gold future prices (D) All of these
9. Gra '
A} T::;: E:i‘“"‘ﬁ that I"EI':F};‘:-ETI‘IT an object like file, folders ete. are:
cons :
70. The memory sizes in mainfra (Wi (D) Deskt
¥ §ia rame : - ; 9
S Which et o Bt s vaed 1 sond Taail? (C) Megabytes (D) All of these
(A) SMTP (B) FTP :
72, The —wo- program compresses large files | (L 013 (D) None of th
(A) WinShrink i w_gc iles into a smaller file B
73.  Which components “Pmrimml?s':ﬂr _ (C) WinZip (DY All of
(A) Dislog box o Tns:J hm windows start up display? Al of these
T4. Which of the follawing is an exam, iar T (€} Start menu (12)
(A) Waord i ple of utility? All of these
75. How can you ypd pernting system () Day .
ate the : s
(A) F8 v TILHT}[ formula cells if Auto Caleulate n::ni (D) Antivirus
76. ‘Which of the mlLuwlugEm:| + (C) Fo € of Excel is disabled?
(A) Formula Ry & ﬁsfrccn components can NOT be tumegd Dy F11
77, Which etables s 1o send “m' tatus Bar (Tt or o
(A). mall Menge s same leter to different persons? (D) None of these
a¢  'Which of the follgwin. ; A (C) 1
Wit is not the Secti .4 template
(A) Odd Fage B e SR OR (D) None of thes
70, What feature Wil you e o o i (€) Previous py "
(A) Animation Obiects ) sa-.‘h"}';l“?" clectsin betyeen o aiiu.:gc- (D) Even Page
4 oafthe AT 1 En 3 [ Sk
g0, Which of the folloWINE Tont effoet is not availsble A€} Animation g, ® and unother enpepsy
e 10 Powerpyi tme (D) Slide T N
ransition

(A) Striketh rough ) Underline nt Fon g

(C) Shadow alogibexd
(D) Emboss



